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sin(a + 3) = sinacos 5 + cos asin (1)
ARG TIE

cos(a + ) = cosavcos f — sinasin 3 (2)
Thd, BHREBEEEFZRE A1T7—=F T 7VOAK

e = cosf +isind

o, FRBEHROBIZNT AN 5

ZREETHZETCHBRRZADLZENTE S, HlZIE, REOMARITZZ=—-1 THEILOKMTH
BOMM2IEDEIZELL L5,
ZIZTE, REDOHEBENTEONSEZ L E2RTE D,

BN DBRPIZ2ODEA=ZARE RO HLDOHEE o, [

T D 9%, AD=1 &b,
| AC = cos(a + ), AE = cos 5, DE = sin g
: E AB = AEcosa = cosacos 3
F """ < BC = EF = DEsina = sin asin 8
4 o TAB=AC+BC ThHsho,
a E 5 cosacos f = cos(a+ ) +sinasin 3
A C B

/ BEET S 2T BER (2) 2SN,
EHBIOBIRIX AR y BIADRE S 12 X BRIFED S Rd SIS, CD =CF+FD 55,

DE = sin 5, AE = cos 8
DF = DE cosa = cos a:sin 3
FC = BE = AEsina = sin a cos 3
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